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2 1. 542 55 7IEHEY 7I& ¥ 44 LA A2023-72=, 2023. 11. 8)
ardAlE 'd (mg/kg) 7I=§ (mg/kg)
2(390] ®Q)) 0.2 o]s 0.1 oJ5} (4, &2 0.2 °J3})
AR 0.1 °J5 0.1 oJs}
= 0.2 ol 0.1 olat (5 0.2 olsh
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4. ZAZ L
_76&:Lﬁ>. Az
- & 49179] A4S £ BE JfEgo] HAEY BAME-S 3757(76.4%)0] 2100 20371(41.3%)0l|At = Hat
7h=go] $55t0] AEE L 11674(23.6%)2 @it 7I=F F 24E0IUS. 5845 5 9 AEE

A%
60.5%(29770) 2 ' 229 7A5-5(68.6%) 2Tt Tha Woton] Jleg HE52 57.2%((28170) 08 ' 224 &
E(47.0%) K0} £oF 297t S5 HEECAM AfolE BASHE 2, 3)

r

L | EETIER 5% g — e
I:I}\ _ _ _ _ _ _ _ _ _ _
@ | 28 |nzs | ua |23 | #s | nss | B2 | @ss | uz | Az
() (%) ) (%) () (%) () (%) (Ca)] (%)
297 60.5 281 57.2
491 375 76.4 203 41.3 116 23.6
o 0.027mg/kg |+ 0.003mg/kg

=¥ © mg/kg)
we | AR g : =
A AEHS o = A5 o .
(Zj) AHAx= H=ak 7\5!‘ Hl:l-]‘?’] A== A= 7:1%%1‘?’]
(Elé_é_v %) a ] (n%‘gv %) n'g'aé):
20234 491 297 (60.5) 0.027 0.001 ~ 1.973 281 (57.2) 0.003 0.001 ~ 0.019
20224 449 308 (68.6) 0.019 0.001 ~ 0.488 211 (47.0) 0.006 0.001 ~ 0.070

- RA| 4917 & 60.5%%1 2977100|A] Fo] AFE Yo, FL=E-L 57.2%Q1 2817104 ZHEE|o] 24 2
5 99 e8] o =2 Jor =elHflon, g LLWD%%‘S 0.027 mg/kgolL 7t=89] ﬂﬂ?\j
Y2 0.003 mg/kgoz | BHHEYl 7}E“iﬂr =e 5% 2 AeHde 99 4%
0.001~1.973 mg/kg, 7F=H-& 0.001~0.019 mg/kg ©I

- SAE R RE 9ol FEE HEAR 100.0%, xﬁ; 63.8%, AR 63.5%, HAF 58.3%, AH
54.3%, T5 41.7%, AlFF-8EAE 5.0% £0]g o0, £& 2710 BT B4 191%. Jlego] Asge
AAF 63.4%, S5 58.3%, AF 56.5%, AUBAE 53.30%, HAIF 50.0%, F5F 50.0%, UAF 46.0%,
AefE8stte 10.0% wo2 git 7teg 2F sied 4EEY K}OIE HE
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11.6% =9ton], & A&50] 7P W 712 uhlo| il 22 50.0%%.S. 7IE8 HAE 52 AR|EA
82.6%2 7P o} GxlE W JI=E FEEHEC} 19.2% =9ho0 1 9] AAFES 53.8% ~ 65.7%2)
AES59 HoS

- LR 6371 F g2 40710] HEE 0] HEE2 63.5%A 20, TR=g-2 2971014 HEE 0] 46.0%2] HE
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58 09l e QAR S0.9%, Safol 83.9%2 R 5 e we USRS w0 AF
WOl FUF 3 99 W99 0.0010.060 me/kg BIH e 0.002+0.026 me/kg® 2 Uehd . 7h=8
£ BURol BRI Aagol dgkon] 2ausl £2 00010009 me/keR 29tE
AEE 54.3%, 715 A& 56.5%F 1, HAE= g AEE 58.3%, 7/IE& 455 500%
T2 I AZE 41.7%% 1 JIEF AEE 58.3%%S. AWMEAEE I AEF0] 100.0%(1571 &=
5%, 7}E8 PE80| 53.3%2 F24Y 428 Ao|S BHS,
8520 334 AL ol 17102 0%e) e 2EES NS AERL 1973 me/keo
£ = 27

- o
2 A 855 § 7V w2 4EFS UL 7IE82 2004 FEE] 10.0%9] 435S e

(H9 : mg/kg)
24t b= 4a=t=s
T T Z‘j PN AE 4EE ﬂo_‘_ ek A& HAEE Eéi" A&
A (%  AET e Ax (B  AED e
A 491 | 297 60.5 0.027 0.001~1.973| 281 57.2 ¢ 0.003 i 0.001~0.019
AAEA 309 197 63.8 0.022  0.001~0.135| 196 63.4 | 0.003 | 0.001~0.019
A= 90 54 60.0 0.016  0.001~0.094 | 51 56.7 : 0.003 : 0.001~0.011
ARJ= 69 52 75.4 0.032  0.001~0.135| 57 82.6 : 0.004 : 0.001~0.019
= Elnisios =S 45 31 68.9 0.016 {0.002~0.054 | 27 60.0 i 0.003 i 0.001~0.010
AJ1AN= 35 23 65.7 0.031 {0.001~0.090 | 23 65.7  0.002 { 0.001~0.010
ghuo] R = 44 22 50.0 0.017 :0.001~0.075| 24 545 ¢ 0.003 ; 0.001~0.011
A7AR] = 26 15 57.7 0.013 :0.002~0.030 | 14 53.8 | 0.003 | 0.001~0.011
A=A 63 40 63.5 0.010 :0.001~0.060 | 29 46.0 | 0.002 { 0.001~0.009
Qlut= 23 12 52.2 0.009 {0.001~0.060| 9 39.1 0.001 { 0.001~0.003
TS E=! g A= 11 8 72.7 0.011 {0.001~0.032 6 545 ¢ 0.003 : 0.001~0.008
= 2= 12 5 41.7 0.004 :0.001~0.012 4 33.3 1 0.001 { 0.001~0.003
Pl SIR=S 11 10 90.9 0.012 :0.002~0.026 | 6 54,5  0.004 i 0.001~0.009
sHup= 6 5 83.3 0.008 :0.004~0.018 | 4 66.7 = 0.002 i 0.001~0.004
NES 46 25 54.3 0.012 :0.001~0.036 | 26 56.5  0.003 i 0.001~0.015
AupsAl= 15 15 100.0 : 0.007 :0.001~0.025| 8 53.3 . 0.003 i 0.001~0.005
HAS 24 14 58.3 0.031 {0.001~0.114| 12 50.0  0.003 i 0.001~0.007
== 12 5 41.7 0.087 :0.001~0.187 | 7 58.3  0.002 | 0.001~0.004
£= 2 ND.* - - - 1 50.0 ¢ 0.010 0.010
AlokR.Q. =AME 20 1 5.0 1.973 1.973 2 10.0 ¢ 0.005 | 0.002~0.007
*N.D. : Not Detected(Z271%)
2 (Mw)E2Y 524 25 5
- ?_Jroe‘ B 304 7V =2 9 AETF0l 7P =04 52 AlE-sAtEel @2 1.973 mg/kell
'go] AEEQL 7tE a2 IR satEolA A&7 0.001 ~ 0.019, B+ 7@EFo] 0.003 mg/kgO =2

WA YRS, A8 o 12 ' EFL 80l 212 29(0.187 ma/ke). 01234 me/ke).

Ex
#4(0.123 mg/kg) 091 43—%&’"12‘11, OJ%OIHW(O 144 mg/kg), “J5(0.135 mg/kg), 7J7d7H(0.117
mg/kg), SFEolula(0.107 mg/kg) 9 FANFOIME do Il =U¥a
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B 5 52 MNBE)ESE 5245 22
(Z9 : ma/kg)
= =8
gus | zus | 22 | @z azs wz } FE 7*%%} i
= = B S e AEEY | ax o AEEH
e (%) AEd e (%) BAEF
& 7 491 = 297 @ 60.5 @ 0.027 0.001 ~ 1.973: 281 = 57.2  0.003 000l ~ 0019
=] 33 18 545 0016 0.001 ~0.094 19 = 576 0.003 000l ~008
ofmt - 18 13 722 0.013 0.001 ~ 0.033 11 61.1  0.004 01 ~ 0011
A2 | @2 29 16 552 0.017 0.003 ~0.034 15 = 51.7 - 0.004 0001 ~00I0
722 | ol 6 5 83.3  0.025 0.001 ~ 0.059 4 - 0.003 0001 ~ 006
904 A 1 ND. - - - N.D. - - -
oo 2 2 100.0  0.004 0.004 ~ 0.005 2 100.0 - 0.002 1002 ~ 008
E2}x] 1 N.D. - - - N.D. - - -
A% 22 15 682 0.037 0.001 ~0.135 18 = 81.8  0.003 0001 ~ 0011
S7nel 7 7 100.0  0.032 0.001 ~ 0.075 5 71.4  0.002 0001 ~ 0007
A2x] 5 4 80.0  0.030 0.008 ~ 0.050 4 80.0  0.008 0018 ~0019
S 271 5 4 80.0 0.017 0.003 ~ 0.043 5 100.0 - 0.004 0001 ~ 00%
(forj; oizto] 5 5 100.0 = 0.048 10.007 ~ 0.107. 4 80.0  0.003 .01 ~ 0007
69ﬁ)_| A2 6 5 83.3  0.011 0.001 ~ 0.027 6 100.0 + 0.003 10001 ~ 008
AR 6 3 50.0 0.041 0.002 ~ 0.117 6 100.0 - 0.004 0001 ~ 008
AR | 3 60.0 0.032 0.017 ~ 0.052 5 100.0 - 0.004 0001 ~ 009
go 6 5 83.3 0.029 0.014 ~ 0.061 4 66.7  0.003 0001 ~ 000b
Aoz - 2 1 50.0 0.004 0.004 N.D. - - -
(35%; Qo] 16 9 56.3 0.018 0.002~ 0.054 6 37.5  0.003 0001 ~ 0007
3097;) ulhy} 8k 14 11 78.6 0.015 0.003~0.041 10 = 71.4  0.004 0001 ~ 0010
= e | w= 7 6 85.7 0.017 0.003~ 0.025 5 714 0.002 0001 ~ 0004
(6== | =9 6 4 66.7 0.010 0.002 ~0.024 5 83.3  0.002 :0001 ~ 00b
4579) ESS)S 1 1 100.0  0.025 0.025 1 100.0 - 0.002 | 0.002
AtQH 1  N.D. - - - N.D. - - -
AF | 9miE 23 16 0 696 0.034 0.001 ~0.09 13 565  0.002 0001 ~0010
SAF | w1 6 545 0.028 0.002 ~ 0.062 9 81.8  0.002 0001 ~00B
(gg’j Ha=3] | 1 100.0  0.013 0.013 1 100.0 + 0.003 1 0.003
vhitole] | EOtE - 24 13 542 0.020 0.001 ~ 0.075 11 = 458  0.004 0001 ~ 0007
e | 1= 9 6 66.7 0.010 0.002 ~ 0.044 4 44.4  0.003 10001 ~ 008
(A== | 7% 6 2 33.3  0.015 0.004 ~ 0.025 5 83.3  0.002 0001 ~ 00b
4479) oot 5 1 20.0  0.012 0.012 4 80.0  0.004 001 ~ 0011
} 17 9 52.9 0.015 0.002 ~ 0.030 8 47.1  0.002 10001 ~ 0007
A7A&ME | o] 3 3 100.0  0.011 0.005~ 0.022 3 100.0 - 0.004 10001 ~ 008
== | Hx 4 2 50.0 0.009 0.006 ~ 0.012 1 25.0 0.011: 0.011
2671) | ols=x 1 1 100.0  0.002 0.002 1 100.0 : 0.001 | 0.001
Azl 1 ND. - - - 1 100.0 - 0.003 1 0.003
olmt= uf 13 7 53.8  0.003 0.001~ 0.005 7 53.8  0.001 0001 ~ 0B
(B== | Al 8 3 375 0.030 0.009~ 0.060 2 25.0 0.001 . 0.001
2371) 7t 2 2 100.0  0.002 : 0.001~ 0.003 . N.D. - - -
o1z ke | Ze 9 6 66.7 0.014 0.002~ 0.032 4 44.4  0.004 10001 ~ 008
(17%; (3= | o) 1 1 100.0 = 0.001 0.001 1 100.0 - 0.001 | 0.001
6374; 117) | 28l 1 1 100.0 = 0.006 0.006 1 100.0 - 0.003 | 0.003
= fgs = 4 57.1 0.005 0.001 ~0.012 2 28.6  0.001 | 0.001
(Z%; o= 1 ND. - - - N.D. - - -
127;) AH2 . 2 ND. - - - 1 50.0 0.003 . 0.003
=l oRIR] 2 1 50.0  0.003 0.003 1 50.0 0.001 . 0.001




6 EHAHFA 333 / 2024\
A} _ _ k= _ _ ==
g5 | 5un == ;‘,¢ A& ZAEE Eé_v} Zzue] A& ZAEE %"ﬂ Zzu0]
= s (%)  BEF o= s % A&:F "°°
=Ta vy o3 3 100.0  0.010 0.002 ~ 0.024 1 33.3 10.001 : 0.001
HaE | 7]9 6 5 83.3 1 0.010 0.006 ~ 0.016: 3 50.0  0.005 0001 ~ 008
(A=< |moloj= 1 1 100.0 : 0.011 0.011 1 100.0 1 0.001 : 0.001
1174) 831 1 1 100.0  0.026 0.026 1 100.0 1 0.009 = 0.009
aigts | B0l 3 3 100.0  0.006 :0.005 ~ 0.007 2 66.7 | 0.002 :0001 ~ 004
3== | A 1 ND. - - 0.002 ~0.006: N.D. - - -
671) N R=, 2 2 100.0 1 0.011 0.004 ~ 0.018 2 100.0 1 0.001 : 0.001
A& R 21 9 42.9 0.017 0.005 ~ 0.036. 12 57.1  0.004 :0001 ~ 0015
(2== 467) T3l 25 16 64.0 | 0.010 0.001 ~ 0.026 14 56.0  0.002 0001 ~ 008
AVEAF
/U2 re Aue | o3l 15 15 100.0  0.007 0.001 ~ 0.025 8 53.3  0.003 :0001 ~ 0006
(15= 157)
Al&o] i 8 5 62.5 0.010 0.003 ~ 0.017 3 37.5 | 0.004 :008 ~ 004
o] 3 N.D. - - - 2 66.7  0.001 | 0.001
WA= LEl] | 5 3 60.0  0.037 0.010 ~ 0.077 3 60.0  0.001 0001 ~ 0003
(6=2 247) 40] 1 N.D. - - - N.D. - - -
QFdo] 2 2 100.0  0.113 0.082 ~ 0.144 N.D. - - -
B 5 4 80.0 :0.014 0.001 ~ 0.041 4 80.0  0.004 :0001 ~ 0007
2z 6 2 33.3 1 0.062 0.001 ~0.123 3 50.0 : 0.001 :0001 ~ 0003
He] 1 N.D. - - - 1 100.0 1 0.001 : 0.001
—a EaNES 1 N.D. - - - 1 100.0 1 0.001 | 0.001
s £ 1 1 100.0  0.187 0.187 1 100.0 1 0.004 | 0.004
(7= 1229) = 1 ND. - - - N.D. - - -
AHel 1 1 100.0 | 0.003 0.003 1 100.0 1 0.001 : 0.001
o 1 1 100.0 : 0.124 0.124 N.D. - - -
A=N=1 EA=Y 1 ND. - - - 1 100.0 1 0.010 . 0.010
(2ZE= 27) A2jef 1 N.D. - - - N.D. - - -
= 1 ND. - - - N.D. - - -
P 1 ND. - - - N.D. - - -
= 2  N.D. - - - N.D. - - -
A= 2  N.D. - - - N.D. - - -
mE= 2 N.D. - - - 1 50.0 | 0.007 i 0.007
AlOFL Q e ALS LLES e} 1 N.D. - - - N.D. - - -
1222 207) 2xg 1  ND. - - - N.D. - - -
oJH i 2 1 50.0 | 1.973 1.973 N.D. - - -
o= 3  N.D. - - - 1 33.3 1 0.002: 0.002
A 2  N.D. - - - N.D. - - -
o} 1 ND. - - - N.D. - - -
317] 2  N.D. - - - N.D. - - -

N.D. : Not Detected(E7%)

& shbE 28571 & g2 18731(65.6%)IM HEHUCH 7H=g2 17974(62 8%)olIM FE= S A%
wAAIE §F sitE 1717 & g2 9470(55.0%)01M FE= A OU:] 7HeE2 9271(53.8%)01M HEH
= =9 4% gol 12(5.0%) dE=UL dEF2 1.973 mg/kgez AN siths
LIER oLt 51-87]%(5 mg/kg) otz AYstAS. 7t2a 2°duT 27t 153 &
FEHACY 7H=g2 871(53.3%)04 & U
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297 (60.5)

0.027

0.001 ~ 1.973 | 281 (57.2) 0.003 0.001 ~ 0.019

187 (65.6)

0.017

0.001 ~ 0.135 | 179 (62.8) 0.003 0.001 ~ 0.019

94 (55.0)

0.028

0.001 ~ 0.187 | 92 (53.8) 0.003 0.001 ~ 0.015

1 (5.0)

1.973

1.973 2 (10.0) 0.005 0.002 ~ 0.007

15 (100.0)

0.007

0.001 ~ 0.025 | 8 (53.3) 0.003 0.001 ~ 0.005
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